SN NHABHSY M
Y YYUSEMNE 2358 FS(RELNIAML/NALEAI)
ol ASZEged Jieg+s EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
NAAZHSEH M2 58,492,171 56,741,772 1,750,399
= 32,326,400
CH 20,737,201
= 5,428,570
JESENXE 48858 FE(SELNAMNL/NSLTAI) 36,731,795 36,592,529 1,139,266
= 32,265,900
[ 4,465,8%
ASzeded Jg+= 17,739,100 11,474,129 6,264,971
[ 15,097,900
= 2,641,200
ANEneHUHY N = 19,200 510,200 491,000
201 er= 3| 5,100 4,200 900
01 AtR2te|bl 5,100 4,200 900
OoXsageddd =& 5,100
202 04l 5,100 6,000 A900
01 2LHoIH 5,100 6,000 2900
OXNgnggady =X 5,100
203 HR=H| 9,000 0 9,000
03 A= LR F&IH| 9,000 0 9,000
OXNSAZUS gFFN 9,000
NSAHAHA 2SRNE(=12) 99,800 99,600 200
[ 49,900
= 49,900
201 223 37,200 38,600 A1,400
= 18,600
= 18,600
01 At2teltl 37,200 38,600 21,400
OXNZAIHARE & XA 23| 37,200
= 18,600
== 18,600
202 0o4dl 5,000 10,000 /5,000
[ 2,500
= 2,500
01 2K 5,000 5,000 0
OXNZAIXEH 24 5,000
[ 2,500
= 2,500
207 ARl 27,600 20,000 7,600
= 13,800
== 13,800
01 g =S| 27,600 20,000 7,600
OXMXI2d - Ze&d & NS 2 oA
=9 27,600
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SN NHABHSY M
Y YYUSEMNE 2358 FS(RELNIAML/NALEAI)
ol ASZEged Jieg+s EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 13,800
=S 13,800
301 EtE N = 2,000 7,000 25,000
= 1,000
[ 1,000
11 #AIAMHIXIZ S 2,000 2,000 0
OXZAILRRSE 2 AHIXH 2,000
[ 1,000
= 1,000
307 212+01& 28,000 24,000 4,000
= 14,000
=S 14,000
6 2= 15,000 13,000 2,000
ouINEEE 15,000
= 7,500
< 7,500
07 d=kls=s 13,000 11,000 2,000
OfX=s HNE= 13,000
[ 6,500
= 6,500
THARET LS (M) 103,000 70,000 33,000
308 XtXIEMSO0IH 103,000 70,000 33,000
18 SIS0t 4 A AS A 103,000 70,000 33,000
OTHAMRSES M= & JI1= X2 103,000
SOHE FAXNSA Y0 HEAE (=) 7,326,600 6.075,600 1,251,000
= 6,602,000
< 724,600
403 NXIEHSAE01H 7,326,600 6,075,600 1,251,000
s 6,602,000
= 724,600
01 AXISHHA=2E2 X 7,326,600 6,075,600 1,251,000
Os0E FHANS HE0{AH HEAL 7,326,600
[ 6,602,000
= 724,600
CAl FHAX A HEH A HEASE (Z1) 7,290,500 4,718,729 2,571,771
= 6,446,000
< 844,500
403 MR HMSAHE01H 7,290,500 4,718,729 2,511,771
= 6,446,000
& 844,500
01 AXISHHA= 2L 7,290,500 4,718,729 2,571,771
OFAl HSXS HSHA WA 7,290,500
s 6,446,000
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SN NHABHSY M
M YASENXE 8358 FE(ELXINY LAl
ol ASZEged Jieg+s EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 844,500
Qr2AEs NAadge (=) 2,400,000 0 2,400,000
[ 2,000,000
= 400,000
403 XIS 201 2,400,000 0 2,400,000
s 2,000,000
=S 400,000
01 XM= 2L 2,400,000 0 2,400,000
OHEZcA U=0ts gAY 2,400,000
= 2,000,000
< 400,000
2 AH-0I(GANGNON STAE) Ab 500,000 500,000
308 XXM SOIE 100,000 100,000
01 HAHHBSEXS 100,000 100,000
OeIAE &2 8N SEXE 100,000
403 MXIEHHSA=201H 400,000 400,000
01 AIXISHHA2EE 400,000 400,000
OZ&d Adl-0l otRA X 400,000
KNS HET AL &F 1,918,000 4,494,000 A2,576,000
= 300,000
< 1,618,000
FEIZBHAGFHAY S SENL(22) 300,000 2,000,000 21,700,000
[ 300,000
403 X SHMSAH=01H 300,000 2,000,000 21,700,000
[ 300,000
01 AXISHHA=2 2 300,000 2,000,000 1,700,000
O8Iz FHAS & X2 300,000
[ 300,000
KISGHZANY K& 1,618,000 2,274,000 656,000
201 er2 3| 8,000 10,000 22,000
01 AFS2t2ltl 8,000 10,000 22,000
OXIGIHEAS 2e| =24 8,000
202 04| 12,000 10,000 2,000
01 =LHOLI 12,000 10,000 2,000
OXgHeY &2 =& 12,000
403 X SHHMSAH=01H 1,598,000 2,254,000 656,000
01 AXISHHA=2 2L 1,598,000 2,254,000 A\656,000
og=st 2elits gAY 1,598,000
INE:rag=Pl = 16,868,000 19,469,000 /2,601,000
[ 16,868,000
NN X A (LEEDE JIBAIEAIE) (21) 9,828,000 13,353,000 A3,525,000
[ 9,828,000
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2A:

RloiA S NS D =2t

i)

Y YYUSEMNE 358 FS(RELNIML/XALEAI)
el NSz gne EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=0lH 9,828,000 13,353,000 A3,525,000
= 9,828,000
01 XIS A=E £ 9,828,000 13,353,000 A3,525,000
OLTELE JIBAIE ALY 9,828,000
[ 9,828,000
XY= SEXY AI(2D) 3,540,000 4,516,000 /976,000
[ 3,540,000
403 AXIEHMSAH=0lH 3,540,000 4,516,000 /976,000
= 3,540,000
01 AXISHHA2EE 3,540,000 4,516,000 /976,000
OXg+2 XEXE AL 3,540,000
s 3,540,000
SEXEEX T JIBAIE X (2 1D) 3,500,000 0 3,500,000
[ 3,500,000
403 AXIEHMSAH=0ld 3,500,000 0 3,500,000
= 3,500,000
01 AIXISHHA2EE 3,500,000 0 3,500,000
OFTE X7 JIEAIE XI& 3,500,000
= 3,500,000
AHsEH =4 206,695 185,400 51,295
NEIsEEH =8 206,695 185,400 51,295
201 2= 16,000 18,000 A2,000
01 At22t2lt] 16,000 18,000 22,000
OXHIsEH =X 16,000
202 04l 2,000 2,400 2400
01 2LHoIH 2,000 2,400 2400
OXNEHIsEH A 2,000
307 @l2to| & 188,695 135,000 53,6%
02 2B YAIHE A 35,000 356,000 0
OXHItsEE=H old =8 35,000
03 M EE2SHIEX 153,695 100,000 53,695
OXHIsEHE A 29 163,695
JASENIE S FS(LUSIHTY/LEREH) 21,593,001 20,990,501 602,500
CH 20,737,201
& 855,800
Xz gdzt =8 64,700 62,700 2,000
dad e =2d = 64,700 62,700 2,000
201 et 3| 2,000 0 2,000
01 At 2|l 2,000 0 2,000
OXX=d 22 24 2,000
202 04| 2,700 2,700
01 SLHoIH 2,700 2,700
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2A:

NEPS- I L

M #ESAAY|(NAABHSHH) (OIEHIIE)
&2 J|2&| (EEREE))
2 - IE!
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
01 =WO4bI 10,450 7,220 3,230
ORA2E SN 10,450
203 PR F=&IH| 4,200 3,600 600
M FA2LHRFAHI 4,200 3,600 600
©25¢2! Olat 350,000& =123 4,200
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